C:# |dentify Linear Functions (Table)

Name:
Determineif the table shown representsalinear function (yes) or not (no). Answers
Y y=vx 47 D ly= /X2 K Y=0+/, 1
X|] Y x| v x| v
0] 7 -2 | 2.000 -3(8.500 ’
38732 -3 3.000 -4]8.333 '
41 9 -4 | 4.000 5] 8.167 3
7 | 9645 -7 | 7.000 4| 9.667 '
8 | 9.828 3 [ 3.000 5[9.833 A
5.
4) | y=_x? 5 | y=6*+2 6) |Y=4+X
X[y x| v X |y 6.
-6-36 -6]0.002 2| 2
oo -7|0.000 -8| -4 £
1] -1 -8[0.000 1|5
5|-25 1| 8 2|6 8.
7 | -49 41,208 9|13
9.
10.
7) |Y=-X 8) Y:’\/X_ 9) Y =X?
X |y X v Xy 11.
66 0 | 0.000 3|9
8|8 10(3.162 416 12
2|2 2 [1414 6|36
-3 7 | 2.645 7149
-7 8 | 2.828 8 | 64
10) Y:x Y 11) = 12) | y=3xX-(Xx-1)
B X3 X | Y
X] Y x| v 10 | -40
3| -1 0 | 0.000 8 | 32
-5 | -1.667 10 | 5.477 9 | 36
6] -2 3 | 3.000 1 4
-8 -2.667 = 3877 5 %
1]0333 7 | 4582
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Identify Linear Functions (Table) Name: Answer Key
Determineif the table shown representsalinear function (yes) or not (no). Answers
1 - 2 3 X
) ly=vX +7 ) v= A/ X2 ) Y=9+ /¢ L no
X| Y x| v x| v
0 7 -2 | 2.000 -3/8.500 3 no
3 | 8732 -3 3.000 -4]8.333
4|1 9 - -
T 4 | 4.000 5|8.167 3 yes
- -7 | 7.000 4 19.667
8 | 9.828 3 | 3.000 5[9.833 A no
5. no
4) | y=2x> 5 | Y=6*+2 6) |Y=4+X e
x| Y x| Y XY ° y
-6|-36 -6|0.002 2| 2 s
0] 0 710,000 8| -4 7 y
1] -1 -8(0.000 1|5
5|25 1| 8 2|6 8 no
7 |-49 4 (1,298 9 (13
9, no
10. YES
7) [y=x 8) | yon/X 9 |y=x?
11. no
XY X Y XY
6|6 0 |0.000 319
: es
8|8 10]3.162 4]16 L—
2|2 2 (1414 6|36
3 -3 7 | 2.645 7149
[ 8 | 2.828 8|64
100 1 2% 11) = 12) | Y=3xX-(Xx-1)
- Y3 X3 X Y
X| Y -10 | -40
el 0 | 0.000 8 | 32
| -1667 10 | 5.477 9 | -3
6] -2 3 [ 3.000 1 4
-8[-2.667 5 |3.872 9 36
1]0333 7 [4582
1-10 | 9283 75|67 [58[50] 4233|2517 |
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